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Problem 2.47 from the text.
Problem 2.58 from the text.
Problem 2.68 from the text.
Determine the impulse response h[n] of the LTI system described by the difference equation
y[n] + 0.5y[n — 1] = z[n] — 2z[n — 2]
Is the system stable? Why or why not?
Determine the total solution for n > 0 for the difference egquation
y[n] = 3y[n — 1] — 4y[n — 2] = z[n] + 2z[n — 1]

when the input sequenceis

z[n] = 4" p[n]
and the system isinitially at rest.
Is the system stable? Why or why not?

Consider the system shown bel ow:
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(8) Determineitsimpulse response h[n|.
(b) Show that h[n] isequal to the convolution of the following signals:

hi[n] = (5[n]n-|-(5[n—1]
holn] = (3)" n]



